

نام و نام خانوادگی شماره 14 کلاس (درجہ و نام) پاسخانمہ تشریحی تکلیف شماره 14 کلاس (درجہ و نام) A

$$f(u) = r \left[\frac{u}{r} \right] + a \left[\frac{u+r}{r} \right] \rightarrow \lim_{u \rightarrow r} r \left[\frac{u}{r} \right] + a \left[\frac{u+r}{r} \right]$$

$$\left[1 - \frac{u}{r} \right] = \left[1 - \frac{u}{r} \right]$$

$$r^+ \rightarrow r + r \left[\frac{r}{r} \right] + a \left[\frac{r+r}{r} \right] = r + r [1] + a [2] = r + r + 2a$$

$$r^- \rightarrow r + r - a \leq a \quad \text{and} \quad a \leq r \rightarrow a \leq r \rightarrow \left[\frac{a}{r} \right] = \left[\frac{r}{r} \right] = 1$$

$$\lim_{n \rightarrow \left(\frac{\pi}{2}\right)^-} [r \sin n - 1]$$

$$n \rightarrow \left(\frac{\pi}{2}\right)^-$$

$$\sin\left(\frac{\pi}{2}\right) = 1 \rightarrow [r \sin n - 1] = [1 - 1] = [0] = 0$$

$$\lim_{n \rightarrow -\frac{1}{p}} [n^p \cdot n] = n^p \cdot n = (-\frac{1}{p})^p - (-\frac{1}{p}) = (-\frac{1}{p}) + \frac{1}{p} = -\frac{1}{p} + \frac{1}{p} = 0$$

$$\rightarrow \left[-\frac{1}{p} \right] = 0$$

$$\lim_{n \rightarrow -\frac{1}{p}} \frac{[n \cdot n] + [n^p]}{[n \cdot n] - [n^p]}$$

$$n \rightarrow -\frac{1}{p} \rightarrow n^p \rightarrow \frac{1}{p}$$

$$\frac{n}{n^p} \rightarrow \frac{1}{n^{p-1}} \rightarrow \left[\frac{1}{n^{p-1}} \right] = 0$$

$$\lim_{n \rightarrow -\frac{1}{p}} \frac{[n \cdot n] + 11}{[n \cdot n] + 1} = \frac{[n \cdot n] + 11}{[n \cdot n] + 1}$$

$$\lim_{n \rightarrow 1^+} \frac{\sin^2 n}{[n] + \cos n} \rightarrow \lim_{n \rightarrow 1^+} \frac{\sin^2 n}{\cos n + 1} \xrightarrow{\text{L'Hôpital}} \frac{1 - \cos^2 n}{-\sin n} = \frac{(1 - \cos n)(1 + \cos n)}{1 + \cos n}$$

$$[1] = 1$$

$$\lim_{n \rightarrow 1^+} 1 - \cos n = 0$$

$$\lim_{n \rightarrow \infty} \frac{\sqrt{n+1} - \sqrt{n}}{1 + \sqrt{n}} = \frac{1-1}{1+\infty} = \frac{0}{\infty} \xrightarrow{\frac{0}{\infty}}$$

$$\frac{\sqrt{n+1} - \sqrt{n}}{1 + \sqrt{n}} \times \frac{\sqrt{n+1} + \sqrt{n}}{\sqrt{n+1} + \sqrt{n}} \times \frac{\sqrt{n+1} - \sqrt{n}}{\sqrt{n+1} - \sqrt{n}} = \frac{n+1 - n}{1 + 2\sqrt{n} + n} \times \frac{\sqrt{n+1} - \sqrt{n}}{\sqrt{n+1} - \sqrt{n}} = \frac{1}{1 + 2\sqrt{n} + n} \times \frac{1}{1} = \frac{1}{1 + 2\sqrt{n} + n}$$

$$\lim_{n \rightarrow \infty} \frac{n - \sqrt{n+1}}{n + \sqrt{n+1}} = \frac{\infty - \infty}{\infty + \infty} \xrightarrow{\frac{\infty}{\infty}} \frac{n - \sqrt{n+1}}{n + \sqrt{n+1}} \times \frac{n + \sqrt{n+1}}{n + \sqrt{n+1}} =$$

$$\frac{n(n + \sqrt{n+1}) - (n + \sqrt{n+1})}{(n + \sqrt{n+1})^2} = \frac{n^2 + n\sqrt{n+1} - n - \sqrt{n+1}}{(n + \sqrt{n+1})^2} \xrightarrow{n \rightarrow \infty} \frac{n^2}{n^2} = 1$$

$$\lim_{n \rightarrow \infty} \frac{a\sqrt{n+1}}{n} = \frac{a}{\infty} = 0 \rightarrow \lim_{n \rightarrow \infty} \frac{a\sqrt{n+1}}{n} = \frac{a}{\infty} = 0$$

$$\lim_{n \rightarrow \infty} \frac{b}{\sqrt{n+1}} = \frac{b}{\infty} = 0 \rightarrow \lim_{n \rightarrow \infty} \frac{b}{\sqrt{n+1}} = \frac{b}{\infty} = 0$$

$$n \rightarrow (-r_k)^+ \rightarrow \frac{\epsilon + k \left[\frac{(-r_k)^+}{k} \right]}{\sin(-r_k)^+} = \frac{\epsilon + k}{0^+} = \infty \rightarrow \epsilon + k > 0 \rightarrow \epsilon + k \rightarrow k < r$$

$$n \rightarrow (-r_k)^- \rightarrow \frac{\epsilon + k \left[\frac{(-r_k)^-}{k} \right]}{\sin(-r_k)^-} = \frac{\epsilon - k}{0^-} = -\infty \rightarrow \epsilon - k < 0 \rightarrow \epsilon - k \rightarrow k < r$$

$$\lim_{n \rightarrow \infty} \frac{b\sqrt{n+1} - rb}{an - b} = \frac{\frac{1}{2}b\sqrt{n+1} - \frac{1}{2}rb}{\frac{1}{2}an - \frac{1}{2}b} = \frac{\frac{1}{2}b\sqrt{n+1} - \frac{1}{2}rb}{\frac{1}{2}an - \frac{1}{2}b} = \frac{1}{2} \frac{b\sqrt{n+1} - rb}{an - b}$$

$$\frac{b\sqrt{n+1} - rb}{an - b} \times \frac{b\sqrt{n+1} + rb}{b\sqrt{n+1} + rb} = \frac{b^2(n+1) - r^2b^2}{(an - b)(b\sqrt{n+1} + rb)} = \frac{b^2(n+1 - r^2)}{(an - b)(b\sqrt{n+1} + rb)}$$

$$\lim_{n \rightarrow \infty} \frac{b^2(n+1 - r^2)}{(an - b)(b\sqrt{n+1} + rb)} = \frac{b^2}{a^2b} = \frac{b}{a^2}$$